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December, 2022 
LSE-02 : ECOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from question no. 2 to 7. 

1. (a) Fill in the blanks with appropriate  
word(s) : 1×5=5 

  (i) The study of environment of 

organisms and its effect on the 
organisms is called..........ecology. 

  (ii) In an ecosystem the autotrophs are 
also called.......... . 

  (iii) The study of seasonal changes in the 

community in relation to its climate is 
known as.......... . 
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  (iv) Homo sapiens belong to the 

mammalian order.......... . 

  (v) Various oxides of nitrogen can be 

represented as.......... . 

 (b) State whether the following statements are 

True (T) or False (F) : 1
2
×6=3 

  (i) The Hawaian Monk Seal is an 

example of depleted species. 

  (ii) The death of individuals in a 

population is known as natality. 

  (iii) The sulphur cycle in nature is totally 

sedimentary. 

  (iv) The average salinity of sea water is 

constant at 35 parts per thousand. 

  (v) Increase in the amount of calcium in a 

soil solution results in increase of its 

pH. 

  (vi) Lichen is most likely to colonize a bare 

rock. 
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 (c) Define the following : 1×2=2 

  (i) Surface Tension 

  (ii) Keystone Species 

2. (a) Discuss how shifting cultivation causes 
deforestation. 5 

 (b) How do the animals adapt to temperature 
stress ? 5 

3. (a) Discuss the consequences of water 

pollution on health and well-being of 
human beings. 5 

 (b) What is meant by the term “Residual  

Soil” ? How are soils classified on the basis 
of their transporting agents ? 5 

4. Explain the characteristics of a lake  
ecosystem.  10 

5. (a) Describe the importance of forests in 
human lives. 5 

 (b) Define grassland. List the types of 

grasslands of India. Where are these 
grasslands found in India ? 5 
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6. (a) Name and explain any five synthetic 
characters that help compare different 
communities. 5 

 (b) Define Herbivory. How do plants adapt to 
escape this kind of predation ? 5 

7. Write notes on any two of the following :  

5×2=10 
(a) Cation-Exchange Capacity 
(b) Pyramid of Energy 
(c) Genetic Diversity 
(d) Selective destruction of wildlife 
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foKku Lukrd (ch- ,l&lh-) 

(tho foKku) 

l=kkar ijh{kk 

fnlEcj] 2022 

,y- ,l- bZ--02 % ikfjfLFkfrdh 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 7 rd 

fdUgha p kj iz'uksa ds mÙkj nhft,A 

 

1- (a) fjDr LFkkuksa dks mfpr 'kCn ls Hkfj, % 1×5=5 

  (i) thoksa ds i;kZoj.k vkSj thoksa ij mlds 

izHkko dk vè;;u -----------

  (ii) ,d ikfjfLFkfrd ra=k esa Loiksf"k;ksa dks 

 ikfjfLFkfrdh 

dgykrk gSA 

----------- 

;g Hkh dgrs gSaA 
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  (iii) ,d leqnk; esa ekSle ds ifjorZuksa dk 

mldh tyok;q ds lUnHkZ esa vè;;u -----------

  (iv) gkseks lsfi,Ul Lru/kjh; x.k 

 

dgykrk gSA 

-----------

  (v) ukbVªkstu ds fofHkUu vkWDlkbMksa dks 

 ds 

lnL; gSaA 

-----------

 (b) crkb, fd fuEufyf[kr dFku lR; (T) gSa 

vFkok vlR; (F) % 1
2
×6=3 

 ds 

:i esa izn£'kr fd;k tk ldrk gSA 

  (i) gokbvu eksad lhy ,d vo{kfr; iztkfr 

dk mnkgj.k gSA 

  (ii) fdlh lef"V esa fdlh O;f"V dh e`R;q 

tUenj dgykrh gSA 

  (iii) izÑfr esa lYiQj pØ iw.kZr% volknh gksrk 

gSA 

  (iv) leqæh ty dh vkSlr yo.krk 35 Hkkx izfr 
gtkj ij fLFkj gksrh gSA 

  (v) e`nk ds foy;u esa dSfY'k;e dh ek=kk esa 

o`f¼ ls mlds pH esa o`f¼ gks tkrh gSA 
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  (vi) ykbdsu ds ouLifrghu fuEu 'kSyksa ij 

dkWyksuh@fuog cukus dh lEHkkouk vf/d 

gksrh gSA 

 (c) fuEufyf[kr dks ifjHkkf"kr dhft, % 1×2=2 

  (i) i`"B ruko 

  (ii) dhLVksu iztkfr 

2- (a) ppkZ dhft, fd fdl izdkj LFkkukUrjh [ksrh ls 

ou vi:i.k gksrk gSA 5 

 (b) tUrq fdl izdkj ls rkieku ruko ls vuqdwyu 

djrs gSa \ 5 

3- (a) ty iznw"k.k ds ekuo LokLF; vkSj dY;k.k ij 

ifj.kkeksa dh ppkZ dhft,A 5 

 (b) ^vof'k"V e`nk* 'kCn ls D;k vfHkizk; gS \ 

e`nkvksa dks muds ifjoguh deZdksa ds vk/kj ij 

fdl izdkj oxhZÑr fd;k tkrk gS \ 5 

4- ,d >hy@ljksoj ikfjfLFkfrd ra=k dh fo'ks"krk,¡ 

fyf[k,A   10 
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5- (a) euq"; ds thou esa ouksa ds egRo dk o.kZu 

dhft,A  5 

 (b) ?kklLFky (xzklyS.M) dh ifjHkk"kk nhft,A Hkkjr 

esa ik, tkus okys ?kkl LFkyksa ds izdkjksa dh lwph 

cukb,A Hkkjr esa ;s ?kklLFky dgk¡ ik, tkrs  

gSa \   5 

6- (a) fdUgha ,slh ik¡p Ñf=ke fo'ks"krkvksa ds uke 

crkb, vkSj mudh O;k[;k dhft, tks fofHkUu 

leqnk;ksa dh rqyuk djus esa lgk;d gksrh gSaA 5 

 (b) 'kkdHk{k.k dks ifjHkkf"kr dhft,A ikni bl izdkj 

ds ijHk{k.k ls cpko ds fy, fdl izdkj 

vuqdwyu djrs gSa \ 5 

7- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 

      5×2=10 
 (a) /uk;u&fofue; {kerk 

 (b) ÅtkZ fijkfeM 

 (c) vkuqoaf'kd fofo/rk 

 (d) oU; thou dk oj.kkRed fouk'k 
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